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1. Suppose Rising Steel & Iron Ltd (RSI) was to pay off some of its suppliers and
short-term creditors. RSI has $4 million in current assets and $2 million in
current liabilities.. If RSI use $1 million in cash to reduce current liabilities,
What would happen to the current ratio?

Suppose RSI buys the inventory in $2 million and will pay the supplier in 2
month. How the current ratio changed?

RSI purchases everything on credit. Its cost of goods sold is $1.344million,
and accounts payable are $0.344 million. On average, How long does it take
RSI, Prufrock to pay for its bills?

Dahlia Colby, CFO of RSI, has created the firm’s pro forma balance sheet for
the next fiscal year. Sales are projected to grow by 10 percent to $3.60 million.
Current assets, fixed assets, and short-term debt are 20 percent, 75 percent,
and 15 percent of sales, respectively. RSI pays out 30 percent of its net

income in dividends. The company currently has $5 million of long-term debt
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and $4.6 million in common stock par value. The profit margin is 9 percent.
Please Construct the current balance sheet for the firm using the projected
sales figure. and based on Ms. Colby’s sales growth forecast, how much does

RSI need in external funds for the upcoming fiscal year?
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1. Explain the lemons problem as it applies to securities market.
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